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Two-Variable Map
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A Three-variable Map
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Example 1

simplify the Boolean function F(x, y, 2) = S(2, 3, 4, 5)
* F(x,v,2=95(2,3,4,5 =xy+xy
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Example 2

simplify F(x, y, 2) = S(3, 4, 6, 7)
e F(X,V,2=95(3,4,6,7) =yz xZ
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Example 3

simplify F(x, y, z) = S(0, 2, 4, 5, 6)
e F(X,V,2=95(0,2,4,5,6)=2+ xy
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Example 4
letF =A'C + AB + AB'C + BC

E(ABC= (152357 =C+AB
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Four-Variable Map
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Example 5
simplify F(w, x,y¥,2) =5(0, 1, 2,4,5,6, 8,9, 12, 13, 14)
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Example 6
Slmpllfy F=ABC,+BCD/,+ ABCD;+ ABC/,
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What about POS terms??
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Example 8
F=5(0,1,2,5,8,9,10) into product-of-sums form:
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Note: BC'D' + BCD' = BD' 12




